A¥ ROINN OIDEAGCHATLS.

LEAVING CERTIFICATE EXAMINKATION, 1963.

ar
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{EMATICS—ALGEBRA—PASS,

WEDNESDAY, 12th JUNE — Morning, 10 to 12.30,

All gquestions to be answered,

Mathematical Tables may be obtained from the Superintendent,

1« Solve each of the following equations, giving the answers correct to two decimal placess

(1) 5% — & — 7T =0

(31) 5(1 = 22— (1 — &) =T =0,

2, (a) Find the values of A, B, C so that

2> =A+B(x—=1) + ¢z —1)(x—2)
may be an identity.
(b) Factorise:—
(1) a(b? — c?) + b(c? ~ a?) + c(a® — b?);

+ B4 a)? e oad L R Al
(11) (e + b + ¢) a b C%e (25 marks,)

3+ Prove the formula for the sum of n terms of an arithme tical progression,

The sum of the first five terms of an A,P, is —-75 and the sum of the first twenty
+

o f
terme 1s zero; find the sum of the first thirty terms.

(30 marks,)

Le The hypotenuse
inches, Find the ares

1s 39 inches long and the perimeter is 90

30 mnPkS.)

Bs o (3] In ogression the of the first and second termes 1is 6
a scond and thi terme is 3, Find the common ratio

(1i) The second term of
30 s PF t}

20 and the eighth term

(30 marka,
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(30 marks,)

T+ Draw the graph of the funct

. ' 2 - >
lon z(2® — 3) for values of z from -3 to 43,

Write an account of how the funection varies

in sign and in magnitude as = varies from
-3 to +3.

Use the graph to

as accurately as

ol

(30 marks, )



